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Instructions for Candidates

1. Write your Roll No. on the top 1mmed1ate1y on recelpt
- of this question paper.

Attempt ALL Questions.
Simple Calculators are allowed to be used.

Working Notes should form part of the answer.
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Answers to theory questlons should be brief and to
the point.

6. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper. |
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I NEEM & TULSI Ltd. provides you the following

information :

(i) Material and Labour requirements

Direct Material @ 20 per unlt : 19 Unité
Direct Labour @320 per il;)'llr . | 2.4 Hours
Material Wastage Rate - 3 | 5%
Expected increase in labour prodI;ctivity 25%|

9

(ii) Overheads and Sales at 80% and 60% Capacity
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(¥ lacs)

At 80% - AL60%

Capacity Capacity

Production Overheads (including depreciation) (?) 20.896 19.072
Depreciation on Production Machinery () 1.6 1.6
Administrative Overheads (3) 15.36 14,72
Sclling & Distribution Overheads €9) 15.2 { 14.4

.| Sales @ Y800 per wiiit 128 96

Required: Prepare Flexible Budget at 50% and

- 90% capacity.

-

OR ALTERNATIVE QUESTION

(15)

Calculate all the labour cost va}rianées from the

following information provided by ALOE VERA Ltd.

Skilled -

Unskilled

66

In a normal working week of 40 hours, the gang 1is

'expecte‘d to produce 108 kg of 6utput:

P

.T.O.
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Actual data relating to finished goods and work-in-

progress :

'_ : Particulas ({(\)pcn‘f‘ng Stbck' Closing Stock )

Work-in-progress . Skeg [0kg
[Materials fully | [Materials fully
supplicdbut 40% | suppliedbut 80%

converled] converled]

Finished Goods 20 kg 10 kg
Actual Sales of Finished Goods: ¥47,000 @ ¥500 per kg

(15)
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. GILOY Ltd. can produce- three different products from

the same raw material using the same production
facilities. The relevant details are as follows :

- | Particulars X o 4 V4
Maximum Market Demand (units) 16000|  4000( 3000
Selling Price per unit (3) - 500} 400| < 800
Raw-Material as % of Sales Value 80% 60%| - 75%
Labour Cost per unit (%) 48 80 64

Overhead Rate is ¥ 20 per hour of which 60% is
fixed. Maximum Raw Material available 1,00,000 kg
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@ X 40 per kg. Maximum Production Labour hours
available 18,400 @ ¥ 32 per hour,

Required: Find out the Product Mix to yicld maximum

profit and determince the Profit at the sclected product
Mix. (15)

OR ALTERNATIVE QUESTION

HALDI Ltd at present manufactures component ‘X’
one unit of which is required for each unit of Product
“A’. The budgeted output of Product ‘A’ are 1,20,000

units. The cost details for 10,000 units of component
‘X’ are as under:

Direct materials 396,000
Direct labour @ %20 per hour Z1,20,000
Variable overheads ' | 7 72,000
Fixed overheads - %72,000
Total ©23,60,000

-

The component “X*however is available for purchase
at the market at ¥ 32.00 each. In the event of the

C‘o-mpany deciding to purchase the component ‘X’ from

P.T.O.
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market, the Company has two alternatives for the uge

of the capacity so released as under.
(a) Rent out the released capacity at ¥ 4 per hour,

(b) Manufacture component ‘Y’ which can be sold at
¥ 32.00 per unit. The cost data of this component

for 10,000 units are :

Direct materials 31,20,000

Direct labour @ %20 pér hour 60,000

Factory variable overheads ¥36,000

Other variable overheads - ¥84,000|

Total | Z3,00,000
Required:

(i) Make an appraisal of proposal to
manufacture component ‘X’ and state
whetﬁer the componént S3E" shduld be
manufactured in‘the factory or purchased

from the market. Assume that no

alternative use. of spare capacity is

available.
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or buy the component ‘X’

(1) Evaluate the alternative use of the Sp

arc

capacity and state whether to manufacture

and if your

decision is'to buy the component ‘X’, which

of the two alternatives for the use of spare
capacity will you prefer?

(7+8=15)
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in one sentence the following terms :

3. (a) Define only
(Ix7=7)

(1) ‘Responsibility Accounting
(i1) Profit Centre

(iji) Investment Centre

(iv) Transfer Pricing

(v) Divisional Performance

. (vi) Financial measures of Divisional

Performance

(vi)) Non-Financial measures of Divisional

Performance

(b) Write only one basic difference between
Controllable Costs and Uncontrollable C’osts..

(1)

!

(c) Write a short note on Control Ratjos. 4)

(d)‘ List three methods of Disposition of Variances.

(1x3=3)
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OR ALTERNATIVE QUESTION

(a) AMLA Ltd. manufactures two products X and Y.
Product X requires 5 hours to produce while 5
units of product Y can be produced in one
hour. In July 12,000 units of X and 60,000 units
of Y were produced. Activity Ratio is 93.75%
of Capacity Ratio and Capacity Ratio is 102.4%

of Efficienc'y Ratio. Calculate Idle Capacity
Ratio. (7)

~(b) List the four methods of divisional performance

~and explain any one of them with the help of an

example. - (A+1+1+142=6)

(c) List the Different Responsibility Centres and

explain any one pf them. (1+1=2)
(@) Paw T aw ¥ PRl w @ aaie

(i) SoEfE T

P.T.O.
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4. (a) Write only one basic difference between each

of the following : (2x5=10)

(1) Cost Accounting and Management

Accounting

(ii) Financial Accounting and Management

Accounting

P.T.O.
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nd Cost Reduction

(iii) Cost Control a

(iv) Direct Cost and Variable‘Cost

(v) Standard Cost and Estimated Cost

(b) Average of Actual Wage Rate per hqur and

Standard Wage Rate per hour is % 90, Difference
between the Actual Wage Rate per hour and
Standard Wage Rate per hour is I 20, Average of
Standard Hours required for actual output and
Actual Hours is 52 ‘h'__our, Labour Cqst Variance is
% 400 (Favourable). Calculate the Labour Wage
: Réte Variance and Labour Efficiency Variance.

(5)
OR ALTERNATIVE QUESTION

(a) Briefly explain meaning, objecltives,' nature and

scope of management accounting. (7)

(b) Write only one basic difference bétwveen each

of the following : (2x4=8)

(1) Standard Costin'g,and Bu‘dgetary‘ Control
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(i) Zero bascd Budgeting and Traditional

Budgeting
- (iii) Fixed Budget and Flexible Budget

(iv) Programme Budgcting and Performance

Budgeting
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(a) Deflne,.only in one sentence the following

terms : S (1x5=5)
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(1) Sunk Cost

(1) Committed Cost |
(111) Opportunit); Cost
(1v) Diﬂ’crcn‘tial Cost

(v) Discretionary Costs

(b)‘List the two basic characteristics of Relevant

Costs.

L

(2)

(c) GINGER & HONEY Ltd manufactures a product,
currently utilising 50% capacity with a turnover of
Z 72,00,000 at X 400 per unit and its P/V Ratio is

40%. The cost data is as under:

Direct Material per unit

Direct Wages per,unit 80
Variable Overheads per unil 32
Semi-Variable Overhcads (which will increase by ¥ 91,200 for 3,84,000
cvery 18% increasc in capacity or any part thercof)

Fixed Overheads v 9,60,000

P.T.O.
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Required :

() Calculate the Total Fixed Cost at 50%

capacity level..

(i1) Calculate the Number of units to be sold °

to earn profit of ¥ 112 per unit.

(ii1) Calculate the Selling Price per unit to earn
“a profit of 25% on capital employed at
80% acti‘vity level. The fixed portion of
capital employed is ¥215,42,400 and
the -Working Capital portion is 20% of
Sales.  (2+2+4=8)

OR ALTERNATIVE QUESTION

(a) Write only one basic difference between each

of the following : ‘ (2x2=4)
(i) Product Cost and Period Cost .
(ii) Variable Costing and Absorption. Costing. -

(b) Define only in one sentence the following terms :
(1x7=7)

-~
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(1) Cash Break Even Point’
(11) Cost Indifference Point
(111)) Key Factor
(1v) Angle of Incidence
(v) Margin of safety
(v1) Composite break-evég point

(vi1)) Budget Manual .

(c) Calculate Break-Even-Point for a tram journey
between Delhi and Jaipur Where cost of an Engine

1s ¥ 3,20; ;000 and of Bogie is 3 64 ,000. Capacity
of a bogle 1s 70 passengers and each ticket is

priced at ¥ 2,400. Variable Cost per ticket is

% 400. s S (4)

(%) FRiaa =) = e v g ¥ a6
(i) == s e

(i) wiNEg «FE
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